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L@ W | 20| 47| BE$ABN, AMTHE, Q2 5
o | ol Eis 530.0 11
ol w o s 2 | 5000 1000 | 520009/20kg(HH)
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- 7kl (=74) ¢ (11) 3,0009/20kg = (12) 3500 (=784 A7)
- ERVIIAEE 1 (1) - = (12) 1000
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(9 : 4/20kg A, %)

T * ¥ 9 H & L - =
D N R 4733|887
sl o=y 1_0,000%+700kg+15ﬁ 2hg=2674
r &% A 4 267 01| - AH35 0 (18 35AH)x5)=153]
. AsEE e AE
- = . 000 13 oTEEH 2(1%—>1:) A%, 1%% 59/kg
- 5%x59=259/kg, 25Yx2Rkg=T00%
le s 2400 05 | (60,0009+7,000kg)x28lg=2409
* 4 7 3 27000 | 806 | (61,000+40kg)x28kg=42,7009} (% Z)
. 7} 3 £l 42500 | 80 | (17,0009 +80kg) *20kg=4250%
k| X F A 9 650.0 1.2 | 6509 (20kgA o)
g 28774488 1000| 02| 50009/15E, Wkg=30Z ] AA/FAE
% ¢ % ] 500| 10| 2200009 +400%=550%/20kg
%i o & 730.0 14
% 9 s 7 490000 | 925 | 49,0008/20kg (=)
% 9 v 3000| 06| 3009/20kg(ahAH)
E i & H] 600.0 11| 600€/20kg(HEAY %)
3% s g 6000 | 11| =%k 15% &
é # 9 7 37 505000 | 953 | 50,5009/20kg(# 1)
8 | zt s H] 1,625.0 31| AEXLG A, AAu], AATHE §
g o] & 875.0 17
Z
4| % 9 7 37 530000 | 100.0 | 53,0009/20kg( 1)
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- 7HRI(EA) ¢ (1) 37509/20kg = (12) 4250 (=45 )

- ER7PIAER (1D - = (12) 1000





